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1. Calculate the degree of ion of the d with the formula CyoH,;BrCINO;.
145367

2. Which one has the strongest basicity for the following bases?
(1) NaNH; (2) NaOEt (3)MeLi (4) CH,;=CHLi

3. Which of the following compounds is the strongest acid?
[OR diene (2) 1,3,5-heptatriene (3) cycl iene (4)

4. Which of the following compounds would exist in an enol form to the greatest extent? (1) acetone (2)
ethyl acetoacetate (3) 2,4-pentanedione (4) ethyl acetate

5. What is the relationship between the following two structures?

& O

(ydi (2) identical (3) i [©) itutional isomers

6. A compound with the molecular formula CgHyBrO gave the following 'H NMR spectrum & 1.4 (t, 3H),
3.9 (g, 2H), 7.0 (m, 4H). The most likely structure for this compound is (1) C¢HsOCH,CH,Br (2)
p-HOCGHCH,CH;Br (3) p-BrCeHsOCH,CH; (4) p-CH;OCsHsCH;Br

7. The IR absorption at 2200 cm™ indicates the presence of (1) acety! chloride (2) acetamide (3)
n-butylamine (4) CH;CN

8. Which of the following species is an ylide?

(1) PhyPCH,Br (2) CHICO,CHy)y (3) ChLi (4) PhsPCH

9. Which of the following compounds is the easiest one to react through Sy1 mechanism?

.
m(? (n(% <3)¢ (4)(2

10. For the reaction shown below, the major product is formed by

O cnow —

(1)E1(2) E2 (3) Sxl (4) Sn2
11. The product for the ester formation between CH;0'*H and CH;CO,H is:

M, Kt @ I w3 Lt 10

HaC” 0" ey HaC”0CH, e’
12. What is the IUPAC name of the compound A?
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A
(1) 4-bi 2 1 (2) 3-bromo- thylh
(3) 2-methyl-4 (4) 5-methyl-3-b
13. What is the [UPAC name of the compound B?
Lrasal
B
(1) cis-3 ! 1 (2) trans-3-chl
() cis-s-chl (@) cis-3-chloro1 lof
14. What is the IUPAC name of the compound D?
on
&
D
(1) 3-b 1 4 ) 5-b 2.1 4 3)
21 4-methyl-5-fl henol (4) 2-bi 4-hyd;

15. What is the [UPAC name of the compound E?
E
(1) 3-ethyl-5-methyl-1-heptene (2) 3-vinyl-5-methyl-1-heptane (3) 3,5-diethyl-1-hexene (4)
2-ethyl-4-vinylhexane
16. What is the IUPAC name of the alkyl group?

Wk
—CHCHICHIOHCH
(1) 1-propyl-4-methylpentyl (2) 4-methyl-1-propylpentyl (3) 2-methyloctyl (4)
(3-methyl-1-butyl)-butyl

17. For isopentanol: (1) it is a secondary alcohol. (2) it shows a characteristic absorption at 1720 cm™ in
the IR spectrum. (3) it has four signals in the broad band decoupled *C NMR spectrum. (4) it is a
stereoisomer of pentanol.

18. What is the major product for the addition of Br; to trans-2-butene?
12 (2) meso-2,3-dib b (3) racemic mixture of (2R,3R) and
(28,38)-2,3-dit (4) 1,2-dib

19. Arrange the following di iles in the order of i ivity toward cycl diene in
Diels-Alder reaction.
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(1) C<B<A<D (2) A<B<C<D (3) D<B<C<A (4) D<A<B<C

20. Which of the following addition reactions of alkenes occur specifically in an anti- fashion (1)
dihydroxylation using OsOs, H;0; (2) addition of Br2(3) t i idation (4) hyd:
using H-Pt

21. How would you carry out the conversion of CH;CH,CH;CH=0 into CH;CH,CH,CHDOH?
(1) a. LIAIH#/THE, b. D;0 (2) a. LIAIDJ/THF, b. D20 (3) a. LIAID¢THF, b. H;0 (4) a. LDA/THF b.

D0
22. Treatment of p-chlorotoluene with NaNH; in NH; gives (1) p-methylaniline (2) o-methylaniline (3)
m-and p-i of iline (4) m-and o-i of methylanil

23. Which of the following compounds cannot be cleaved by HIO4?

0,00 @ Lo C'E) @ 5L

24. Which of the dienes can undergo a Diels-Alder reaction?

w0 OO @™ e

25. The conversion of 2-pentanone to butanoic acid is best accomplished with: (1) I, NaOH (2) NaBH, (3)

CrOs (4) Ag:O
26. Reaction of cyclohexene with peracetic acid CH;COsH, followed by treatment in strong acidic
aqueous solution gives (1) cycl (2) cis-1,2-cycloh diol (3) trans-1,2-cycloh diol

(4) 2-cyclohexenol

27. Which compound reacts most rapidly with Lucas reagent (ZnClyHCI)? (1) "butanol (2) *“butanol (3)
“butanol (4) isobutanol

28. Which is the major product for the following reaction?

o e
mO~ a0~ @O @

29. What would be the major product for the following reaction?

LS
-onomon e

(1)(5 e 0 Q (0(5

crcHCHs CHBICHICH  CHOHCHSr  CHBCHCH

30. What is the major product for the following reaction?

(H @AM A L)
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